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#include <stdio. h>
int main() {

int x,v,2;

x=6, y=8, z=4;

2=X;
printf (“%d %d %d”,y, z, x) :
2« THEFZEITEELE: - .
#include <stdio.hd :

int main() {

int x,v,2;
y=5;2=6;
for (x=1; %<6 x++) {
if (y%x==0) .
printf("%d”, x) ;
if (2%x==0)
printf ("%d”, x) ;

int main() {
int x;

tscanf " &X)

for(int i=0;i<100;i++) {
1f (x%2==0) {x=3%x+1:
- 1f(x<10) {printf (“%d”, 1) ; -
break:}
> relse eontinue;
}

else x=x/2:
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4, THREFETERE:
ttinclude <stdio.h>
int main () {

int 1,3 ;
for (i=4;i>=1;i—)
{ for(§=1:j<=i;j++) putcharC#);
for (j=1: j$=4-1; j++)putchar C ¥ ) ;
putchar C \n’) ;
}
}

5. THERFETERE:
#include <stdio.h>
int main() {
int a[10]={0};
int b[11]={4,5,8,8,8,5,0,4, 8,8} ;
int n=10;
for (int i=0;i<n;i++)

alb[i]]++;
printf (“%d %d %d”,al3], al0],al81);
}

F. RIEH (B 1545, 3£30
1. BH—AEHBENTTESR, X - % / NHEBE. AFEEHNE T AEH
ftEm, BEMZEELERERNSEY int RAITEE.
BMANRAT—17, HE=AsEK, BBl 2888, F3NMSEOVRER
(=%, /s
W RE—T, —NEH, AEESR. AM:
(1) B HERECROM BN, M%iH: Divided by zero!
(2) MERDTHAGRERFEIRA + ~ % / 2—), Ml Invalid
operator!
FEBIEIA 12+
el 3
Bor:  WLLERMER if # switch 414.

2. RESIMNEERN—ANFHER, BEFFEFEENFR SFRhEX TR,

BRI E RN LR LB T L F IR B 3W kIR




